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Part One: Reading comprehension

Directions: Read the following passages carefully. Each Passage is followed by some questions.
Complete the questions with the most suitable words or phrases (a, b, c, or d).

Base your answers on the information given in the text only.
Passage 1

The United States has a scandalously large number of people who lack health insurance, now
up to 46 million and growing. That number is vivid and evocative. But it has overshadowed
another, more serious issue — that of the steady escalation of health care costs. Largely due to the
use of medical technology, those costs are now increasing at an annual rate of 7% a year. The
Medicare program as a consequence is projected to go bankrupt in nine years, and overall health
care cost to go from its present $2.1 trillion annually to $4 trillion in 10 years.

Those rising costs are an important reason why the number of uninsured keeps going up.
Business finds it harder and harder to pay for employer health benefits, and only 61% of
employers even provide them now (from a high a decade ago of close to 70%); and the employees
who do provide benefits are cutting them and forcing the employees to pay more themselves in
the form of copayments and deductibles. The 15% who are uninsured are surely faced with both
health and financial threats. But the cost problem now threatens everyone else as well, including
those using the Medicare and Medicaid program.

121 - The primary concern of the writer is the ......

. a) cost of the health care
b) use of medical technology
c) recent bankruptcy
d) Medicare program

122 . The underlined pronoun “that” refers to..... .

a) insurance

b) number
c) issue
d) rate

123 _ To the writer, the issue of ..... has been overshadowed.

a) people without health insurance
- b) increase in health care costs
¢) medical technology
d) bankruptcy of the Medicare program

124 .. The rise in medical costs these days is mainly rooted in ..... .
.a) those without health care insurance
b) growing number of insurance seeckers

c) the application of medical technology
d) bankruptcy of the Medicare program
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125 — With the rising costs of health care, business..... the uninsured.

a) could afford for fewer number of
b) has updated new ways to pay for
¢) currently pays for 70% of

d) has more obligations to pay for

126 — The cost problem in health ..... .

a) has been unduly highlighted in care settings
b) continues to affect more people in future
¢) isrooted in Medicare and Medicaid programs

d) is limited to the 15% who are uninsured

Passage 2

The number of parents choosing to have only one child is increasing in many parts of the world.
In South Korea, the ﬁé?éentage of families with only one child is higher than ever. In fact the
average number of children per couple has fallen to 1.19 children - significantly below the
replacement level of 2.1 children. This follows a general trend in Asia where in many countries,
e.g., Japan and China, couples are having no average fewer than two children. In Japan, the
average number of children born per family has declined to 1.25 by 2005. This has led to
government concerns about supporting an increasing population of elderly people in the future;
it is predicted that by 2020, a third of population in Japan will be aged 65 or over. For some
single-child parents, particularly those with busy careers, the pressure of devoting time and
energy to a second child can seem too overwhelming, resulting in them electing to have no more
children.

127 — It is said that “one-child parents”is ..... ,

a) going to decline worldwide in future
b) getting more common in some countries
¢) following the same pattern all over the world

d) - going to be a norm for most developed nations

128 — South Korea is mentioned as an example of the countries ......

a) with a decreasing number of multi-children families
b) which have intentionally adopted the policy of one-child families
c) which are seriously concerned about the new trend on one-child families

d) with a definite family-planning policy

129 _ An important factor contributing to the increase of single-child families is claimed to be ......

a) population explosion
b) child-raising challenges
c) increasing number of the elderly

d) high rate of unemployment.
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130 — The Japanese government is said to be ..... the new trend.

a) indifferent to
b) complacent about
c) dissatisfied with

d) in favor of

131 — Multi-children families in Asia..... .

a) follow their traditional birth rate
b) are fewer than they used to be
c) have replaced single-child families

d) are no longer present

Passage 3

As developed nations move out of the industrial age into the information/conceptual age,
there is an ongoing debate about how to best prepare children and youth for adult success in the
twenty-first century. While there is a consensus that schools should pay a major role in this
process, there is less agreement about exactly what that role should be. Some believe that the
primary focus of schools should be academic preparation of students, and that classroom
teachers are primarily responsible for student academic achievement, and that schools should
efficiently and effectively organize themselves toward that task. These efforts to improve
schooling might be labeled school reform in that they accept that the desired outcome of
schooling is academic achievement as measured by standardized tests of basic skills and that the
focus of change should be on the practice of classroom teachers and school administrators.

Others believe a more holistic approach should prevail and that efforts of schools should be
integrated with other social institutions such as family and community towards these more
holistic ends. Efforts along these lines might be labeled ‘school revisioning’ in that there is an
advocacy that schools focus on much wider range of desired outcomes (cognitive processing
skills, emotional and social awareness and skills, moral character development). These

approaches state that intellectual ability and academic achievement account for only about one-
third of the variance related to adult success.

132 — Regarding the youth and adults’ success, the main role is given to ..... :
a) social institutions
b) educational systems
¢) the participants’ efforts

d) the whole society

133 — The school reform movement focuses on ......

a) more qualified school staff and practice
b) construction of more academic standardized test
¢) development of cognitive processing skills

d) family and community development
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134 _ Addressing the two approaches, the writer seems to ..... .

a) support the school reform movement
b) advocate the school revisioning approach
c) criticize both movements

d) remain impartial

135 —~ The advocates of the school revisioning movement argue that ......

a) success is mostly achieved through intellectual ability
b) schools have a minor role in one’s final success
c) social institutions are prior to school for education

d) success is a multi-variable phenomenon

136 — School reform and school revisioning approaches differ in that ..... .

a) the former is more scientific-based
b) the latter is more academic-based
c) the former puts less importance on social institutions

d) the latter considers a less important role for school systems

Passage 4

Until recently the study of human evolution was based entirely on the historical record of
fossils and archeological findings. Understanding history by examining the available archives is
infinitely better than speculating on the basis of preconceptions, but historical records, as we
have already noted, are never complete. Furthermore, to paraphrase one of the advocates of
molecular techniques, a fossil may or may not have left documents, but all of our molecules had
ancestors. Consequently the recent use of molecular genetics to study human origins opens an
exciting new window on the subject. In science, new and different perspectives frequently initiate
the questioning of assumptions and the reinterpretation of older data, but a richer and more
accurate understanding usually emerges. Study of the last several hundred thousand years of
evolution of Homo sapiens is currently in such a dynamic state.

137 — It is understood from this paragraph that studies of human evolution ..... .

a) are limited to historical records
b) tend to be dynamic nowadays
c) should be based on archives

d) should be based on archeological findings

138 — The writer of this paragraph mostly supports ..... in the study of human origin.

a) the use of historical records
b) speculations and preconceptions
¢) older data and assumptions

d) the application of molecular genetics
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139 — ‘such a dynamic state’ (the last sentence) refers to the ..... ;

a) rejection of the assumptions based on the older data
b) use of new perspective in investigation
¢) comparison and contrast of new and old records

d) emergence of questions about human evolution

140 — As to the study of human evolution in the past and at present, it is stated that ..... .

a) the former is more one-dimensional than the latter
b) the latter is less exciting than the former
¢) neither is multidimensional and precise

d) both are dynamic, exciting and reliable

141 — One of the advocates of molecular genetics..... in this passage.

a) illustrates the drawbacks of the historical record approach
b) wants the researchers to ignore archeological findings
¢) highlights the importance of human evolution

d) rejects the reinterpretations of older data

Passage 5

Researchers surveyed about 550 female family planning providers and asked whether they

used contraception, and what type they used. Study authors then compared these results with a
2006 to 20120 survey of U.S. women who were about the same age.

Out of the 335 family planning providers who used contraception, 42 percent used a long-
acting Method of birth control, including IUDs and implants, whereas 6 percent of women in the
general population used one of these methods.

“We are theoretically, the most educated group of people in this arena,” said the study
director. “And given that background... we take the most effective methods” of birth control.

The researchers found that 40 percent of family planning providers used IUDs, and 2 percent
used implants, which are inserted in the arm and prevent pregnancy by releasing certain
hormones. Just 12 percent of family providers used birth control pills, compared with 21 percent
of women in the general population.

IUDs and implants are among the most effective forms of birth control. Less than 1 percent
of women who use these methods will become pregnant each year, according to the Centers for
Disease Control and Prevention.

Among typical users of birth control pills, about 9 percent will become pregnant each year,
the CDC says. And condoms are even less effective in real-life use: about 18 recent of typical
condom users become pregnant each year.

142 _ The participants in this study are said to be ..... .

a) pregnant women
b) would-be mothers
¢) female university graduates

d) obstetricians and gynecologists
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143 = According to these authors, most effective birth control method is the ..... ,

a) pill

b) condom

¢) acombination of pill and condom

d) intra-uterine device

144 . Compared to average women, the number of family providers who use pills is ......

a) much more
b) almost half
c) twice as many

d) 'nearly the same

145 __The study suggests that family planners are ..... women in the general population to use a long
lasting method.

a) considerably fewer than
b) nearly as many as
¢) seven times more than

d) almost the same in number as

Part two: Vocabulary Questions:
Directions: Complete following sentences by choosing the best answer.

146 — Unhygienic or dirty conditions-----diseases.

a) focus on b) derive from ¢) recover from d) give rise to

147 — Some diseases, such as cancer, if ----- early enough, are much easier to manage.

a) reinforced b) ignored c) provoked d) detected

148 . Some studies have shown that laughter eases fear and anger by ----- a sense of hope.

a) diminishing b) inducing ¢) terminating d) suppressing

149 _ It is pretty hard for an addict to resist the .....of the withdrawal symptoms.

a) remission b) commission c) temptation d) termination
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d) 'nearly the same
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lasting method.
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Directions: Complete following sentences by choosing the best answer.

146 — Unhygienic or dirty conditions-----diseases.

a) focus on b) derive from ¢) recover from d) give rise to

147 — Some diseases, such as cancer, if ----- early enough, are much easier to manage.

a) reinforced b) ignored c) provoked d) detected

148 . Some studies have shown that laughter eases fear and anger by ----- a sense of hope.

a) diminishing b) inducing ¢) terminating d) suppressing

149 _ It is pretty hard for an addict to resist the .....of the withdrawal symptoms.

a) remission b) commission c) temptation d) termination
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150 — It has been due to a lot of .....that scientists have found the origin of certain social problems.

a) inquiries b) disruptions c) barriers d) distractions

151 - Trying to artificially..... mental changes with drugs is not commonly recommended.

a) designate b) trigger ¢) dissolve d) threaten

152 - WHO has some experts who are very efficient in..... medical information around the world.

a) disseminating b) embracing ¢) concealing d) devoting

153 — In order not to involve your personal attitudes in the results, you need to be ..... when doing research.

a) inconsistent b) skeptical c) impartial d) biased
154 _ Patients with depression may feel.....with sadness and loneliness for no known reason.
a) overwhelmed b) overturned c) overseen d) overdone

155 — The best way to ensure.....nourishment of our cells is to eat nutrient-dense foods.

a) cordial b) superficial ¢) cardinal d) optimal
156 — Coronary heart disease can resultin ....., such as angina, heart attacks and heart failure.
a) complications b) contributions ¢) conformations d) configurations

157 - Sitting down and writing about the thoughts and emotions could..... you to organize your mind..
a) advise b) devise c) assist d) insult

158 - There is not enough money to be used for all research proposals; so we need to use the budget
a) vigorously b) irrationally c) irrelevantly d) sparingly

------

159 — The loud noise outside..... the test-takers who were trying to concentrate on the exam.
a) enlightened b) irritated c) aggregated d) confirmed

160 — Excessive alcohol use can..... memory and cause damage to the brain.
a) impair b) retain c) detain d) retrieve
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